AOTIZTIKOI APIOMOAEIKTEZ — ACCOUNTING RATIOS

1. Acikteg Arédoong (R Kepdogopiag) — Profitability Ratios

(i) Acgiktng MeikToU Képdoug rpog Kéotog NwARocewyv (Mark-up)

Agiktng MeikToU Képdoug Tpog KoTog MwAfoewv= —kt0Ke306 o 100 = ... o

Ko60t0¢ TwANoEwV

Gross Profit

Mark up = X 100 =%

Cost of sales

(ii) AgikTng MeikToU Mep1Bwpiou R MeikTou Képdoug (Gross Profit Margin)

Meiktd KépSog

AgikTng Meiktou Képdoug = X100 =%

HNwoelg

Gross Profit
Revenue

Gross Profit margin = X 100 =%

(iii) Agiktng KaBapou MepiBwpiou | KaBapou Képdoug (Net Profit Margin)

KaBapb Asitovpyikd KépSog % 100 = -+ %

Aciktng KaBapou Képdoug =

HwMoew

Operating Profit
Revenue

Net Profit margin = X 100 =%

(iv) Agiktng Ar6d00ng ATraoXoAoUpevwy - ETrevdupévwv KepaAaiwv
(Return on Capital Employed-ROCE)

KaBapa Képén mpv amd TOKoUS & pOpovgH
4 pon mp S & @op CX100=---%

(a) Arodoon Atmracxohoupevwy KepaAaiwy = Tovolo Amacrolovptvey Kepaiaiay

Net profit before interest& taxes*

ROCE = : X 100 = --- %
Total Capital Employed
*or operating profit
(b) ATTéB00n ATracxoAoUpevwY Kepahaiwy = Xa0apd Kepdn nerd and bkouek pdpovs 10 = ... g

Amaocyoiobusva Kepdlaia

Net profit after interest & taxes
ROCE*+ = Yetprofit ajter % 100 = - %
owners'Capital Employed

** or Return on equity or Return on shareholders’ funds (ROSF)
2. Agikteg PeuotoéTnTag — Liquidity Ratios

(i) Aciktng KukAog@opiakig (f MNevikng) PeuoTétnTag (Current Ratio)

KvkAdo@opiakd Evepyntikd

Aciktng KukAogopiakrg Peuotdtntag =
ns popiakng ras BpayvmpdOeoues YTOYPEWOTELS

Current Assets

Current ratio = —
Current Liabilities



(ii) AcikTng MpayuaTtikAg (A EI81kAG) PeuoTétnTag (Acid Test or Quick ratio)

Kvklogopiakd Evepyntiké—Amobéuata

Acgiktng MpaypaTikig Peuotdtntag =

Bpayvmpo0eoues YTOYPEDOELS

Current Assets—Inventory

Acid Test (or Quick ratio) =

Current Liabilities

3. Agikteg ApaoTtnpidTnTag — Activity Ratios (Use of assets)

(i) Acgiktng KukAogopiakng Taxutnrag Atrofepdartwy (Inventory Turnover)

Aeiktne Kukhogopiakic Taxutntac AToBepdrwy = —orros lwdigeoy 5 a6

Méoog'0pog ATOOeUGTWV*

Cost of Sales
Average Inventoryx

Inventory Turnover = =... times

*Average inventory= (Opening+closing)/2

(i) Méon MNepiodog Eiompagng (Average collection period)

XpewaTeg

Méon Trepiodog sioTrpagng = X 365 uépeg = -+ u€pPeg

HwAMoels ue Tiotwaon

Average collection period = Trederecetvables o 365 days = - days

Credit sales
(iii) Méon Mepiodog NMAnpwung (Average payment period)

MoTWTES

Méan 1TePiodog TTANPWUNG =

X 365 uépeg = -+ uépeg

Ayopég ue mioctwon

Trade payables

Average payment period = X 365 days = ---days

Credit purchases

4. Acikteg Xpéoug 1 MéxAeuong (Solvency Ratios)

(i) Agiktng MéxAguong (Gearing ratio)

7 < Ke@d 0 y 81
AelKTng MOX)\EUOT]Q = EQPAAAXLO OTADUEPOL ELOOOTNULATOG* X 100 — ... %

Z0V0l0 AT o Y 0A0V UEV WV KEQPAAXIWV**

. . Fixed Return Fundingx
Gearing ratio = : 9 %100 = - %
Total Capital Employedx*

* Fixed Return Funding: Preference shares + debentures + other non-current liabilities

**Total Capital Employed: OSC + PSC + reserves + non-current liabilities
(or total assets less current liabilities)



